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R&BI7] 4 |BEHNEU—ZH so.024) 501  29.512]  20.512 0 ] 0 0 0 of 0 0 ul
R4 B8] 5 [BIEEGERAHE 19,283] 50 8, 641 0 0 0 0 0 0 0 0 8 641 q
RAB.19 6 |DE—imEEN 3,082 50 1,516 0 0 0 0 0 0 0 0 1,516 ol
R4S 22| 7 |BEAEER 21, 600 sol 10, 800 0 0 0 0 0 0 of 10,800 0 0
RB20| &[SI (REHE) BAH) 4 400 mul 4, 4o} of D 0 0 of o 40 ) of 0
R4.8.24| 9 |FFBARBARE (EREHMH) BAD 4, 400 mul 4, 400] nl 0 0 0 0 0 4, 400 0 0 0
R4.8.25) 10 |FWERSTEl (GEEFED (BA9) 4, 400 HJDI 4, 400] nl 1] 0 0 0 0 4, 400 0 0 0
RA.B.25] N1 |iR—AR—JRFERL 55, 000) 95 52, 250I 0 0 0 52, 250 0 0 0 0 0 0
R4.8.25| 12 |WREMEIREREY 33. 000 1on| EES ouul ol 33000 0 0 ] 0 0 0 0 0
Ra.8.29| 13 |REREESR 0B84 14. 000 suI T uool 0 0 0 0 0 0 0 7,000 0 0
RA.8.31) 14 |EEAEER A 132,000] 50 86 uuol 0 ] 1 0 0 0 0 66. 000} 0 ul
R4 8.31| 15 {HWU 4R 14,527 25 3.631 3.631 0 0 0 0 0 0 0 0 —ul
R4.8. 31| 16 |BEFAEHHEALR 103, 936] 50 51, 964 0 ol 0 ] 0 0 0 0 (] 51, gsal
0 ] ol 0 0 0 0 0 0 0 nl

0 0 ol ul 0 0 0 0 0 0 —ul

AR E 492, 098 200.908] 32143 33, uuu| ul 53, 608 0 of 13,2000 83 e00l 221m) 51 ss—a|




(FRfERt 4)

& & & ¥

[AE% Rh6)

(FH4FEIAS) [F3HE %K)

(B : [

PO Bam N EEME (FELDMLY
£R8 |¥%= REEXZAE - 38 T s -
il (%) WA [ HER sur | mHxww |FAARSE pupen | mamar | wemr | sse ABR

R4.9.5| 1 [OE—#U—3$ 20570) 5o 10288 0 0 0 0 0 0 10, 285 0
R4 912 2 PR—AR—=3lL &N —N—H—HRE 1,194] 95 1 134| 0 1,134 0 0 0 0 0 0
R4.0.13] 3 |BEEGERE 19, 608 50I g, 304| 0 0 0 0 0 0 9, 804 0
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R412.26| 14 |EEEEFEMEEO0AR) 132,000 50 66, 000 i 0 0 0 0 66, 600 0 of
RA12.26| 15 [Hu Uk 15.208] 25 3. 802 3,802 0 0 0 0 0 0 |
R4 12.28| 15 |BHEHIEEIRE ALK 122,880 50| 61,440 0 0 0 0 0 0 of & 440'
0 0 a 0 0 0 0 t —ul
of 0 0 0 0 0 0 0 ul
1AM - 647,034 LT 3334 143, 911 0 of 13,2000 7n.se0| 22252 e, 440]




(T 4)

f & & &
(AER K]
(SHEFIAD [(F#E ]
(B4T . [)
J— fFHES I AT (FELONER)
FAE |HnE ABNENE - @2 3 P
i %) maawse | anm | amw | mamek |FPRUSE) guean | memar | mmwr | omem | Asn
R5 14| | |PE—#U-—2H . 570) 5] 10,285 0 0 0 0 0 0 0 0] 10,285
RE 10| 2 |F—AR—SLrsAY—K—H—ERH 1.430] 95 1,358 0 0 0 1,358 0 0 0 0 0 |
Rs.t.0] 3 |varvz Y- ; 1, 496 50I 743 0 0 0 0 0 0 0 0 748 ul
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RE.2.3| 1 |aE—#y—2 20,570 50]  10.285 0 0 0 0 0 0 10, 285 |
R6.2.10| 2 [R—ALR—DL 24 )F—n—Y— 24 1,430 95 1.353I 0 1.358 0 0 i} 0 0 o}
RG.2.10] 3 [MNvavIRU—ANH 1.496] 50} 743' 0 0 0 0 i} 0 748 of
RS.2.15| 5 |2y —pefERAN 2.9t5| 5o} 1,457 0 0 0 0 0 0 1. 457 oJ
RE.2.15] 6 |BEMERAH 19.349 soi 9, 674] 0 0 0 0 0 0 9,674 oI
R&.211 7 |amEy—=H 59.024 5o| 29. 612 29,512 0 0 0 ¢ 0 0 ol
RE.2.20] B |HBIHAEER 15, 480 sol 7. 740I 0 0 0 0 0 7.740 0 ol
RE.2.24] 11 |WARAREEEH (GRITTIOED) 2B 4 4,400 1oo| 4,400 0 0 ] 0 4,400 0 0 oI
Ro.2.24] 12 |HEERERM (WAWED) (2A9) 4, 400 mol 4.400 0 0 0 0 4,400 0 0 0
R5.2.24| 13 |ETRABEEEH (EEHE) (A4S 4, 400 100| 4. 400 0 0 0 0 4,400 0 0 0
RE.2.24| 14 |EFMAEHIBKCAS) 14,000 50F 7.000 0 0 0 0 0 7.000 0 o
R5.2.25| 15 |FRh—AR—I{RspiEEy 55. 000 95 52, 250 0 52, 250 0 0 0 0 0 0
R5.2.28| 16 [HIEFRE{EH 132,000} 50 66, 000] 0 0 0 0 0 66. 000 0 0
R5.2.28] 17 |HUY R 23.154] =5 5,788 5, 788 0 0 0 0 0 0 |
R5.2.28) 18 [EHFEHREAGS 122. 880 50 61, 440] 0 ) 0 ) 0 0 0 61,440
18K 480. 498 266. 462 35. 300 53. 608 0 0 13. 200 80, 740 22. 164 61. 440
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RE.3.10] 1 [R—ALR—T L2 LY—ii—H—E AN 1.573) 95 1,494 0 0 1, 494 0 0 0 0 0 ol
RE.3.10| 2 |/AvarvyIhry—aH 1.496] 50 74a| 0 0 0 0 0 0 0 48 ;l
R5.3.14] 8 [aE—#y—2y 20.570] 0] 10, zssl 0 0 0 0 0 0 0 10, 285 ol
R5.3.14] 4 |EiEEmH 19,177} s50] 9, seal 0 0 0 0 0 0 0 9. 588 of
R5.3.16] 5 |ar—#EmAM 14, 856 ] | 7.428' 0 0 0 ) 0 ] 0 7,428 oI
R5.3.17| 6 |mEhE)—2M 59.024] 50 29,512 29,512 0 0 0 0 0 0 0 ol
RS.3.20| 7 |SEMGHENEML 372,671 sol 186 aasl 0 0 186, 335 0 0 0 0 0 ;l
RE.3.20] 8 |HBEAESML 12,870 50 3 435| 0 0 0 0 0 0 6,435 0 ol
R5.3.20| 0 |EBEEFFLETAHHE 3.552| 50 1. 775| 0 0 0 o 0 0 1,776 0 (1
R5.3.23[ 10 [{RESBFREESEM (HRATF YD 3.410] 100 3, 4w| 0 0 0 o 0 3. 410 0 ] ol
RS.3.24| 11 |RESAAIEMEHE QA 127,600 50 63, B(}U| 0 0 0 0 0 ) 63,800 ] ol
R5.3.24| 12 |HU LK 21,113| 25 5, z7s| 5. 278] 0 0 0 0 0 0 ) ol
RS.3.25] 183 {h—ALR—U{EFEIRY 55,000 95 52, zsol 0 0 52, 250 0 0 0 0 0 ol
R5.3.27| W4 |G GREHAE) (A9 4,400] 100 4. 4ou| 0 0 0 ¢ 0 4, 400 0 ) ol
R5.3.27| 15 |FWEEHRE (BMPEE) GRS 4.400| 100 4, 400| 0 0 0 0 0 4. 400 0 ) ol .
RE.3.27| 16 lIEEEM (EEEH) GAS) 4.400 100 4, 4oo| 0 0 0 o 0 4. 400 0 0 —ol
RS.3.27] 17 [REFHEIEFMLUAAS 13.533] 50 6. 766| 0 0 0 ] 0 ] 6. 766 0 ol
RE.3.31| 18 |BIHPIEIEIEE A Y 192,000 50 96, oool 0 0 0 0 0 0 0 0 96. oool
38N 931. 645 494, 305 34,790 0 240, 079 0 0 16, 610 78.777 28. 049 96, 000l
L 10 7.911.174 4,926, 465]  415.868] 231,000 2. 048. 860 48,925 OF 192.456] o66.768| 285584 737024




